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Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER-111 « EXAMINATION — WINTER - 2014

Subject Code: 3335801 Date: 27-11-2014
Subject Name: Mechanical Engineering for Printing
Time: 10:30 am - 01:00 pm Total Marks: 70

Instructions:

1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version is considered to be Authentic.
Q.1 Answer any seven out of ten. 14
1.  Define strength.
2.  Define (1) hardness (2) brittleness
3. Classified air compressor according to pressure limit.
4.  Enlist types of cam.
5. Enlist name of physical properties.
6. What is L.C.M. of vernier calipers?
7. Enlist types of gear train.
8.  Give the application of blower in printing industry.
9. Convert 80 r.p.s. into r.p.m.
10. Define porosity and density.
(@) Draw the neat sketch of vernier caliper. 03
OR
(@) Enlist various forms of threads. 03
(b) Define (1) melting point (2) toughness (3) thermal conductivity 03
OR
(b) Define (1) ductility (2) specific heat (3) fasteners 03
(c) Enlist Mechanical Properties of Material. Define any four Properties 04
OR
(c) Explain permanent fasteners. 04
(d) Give the any four application of (1) bolt (2) washer 04
OR
(d) Give advantages and disadvantages of casting process. 04
Q.3 (&) Enlist types of followers. 03
OR
(@) Draw the displacement diagram of uniform velocity with proper 03
nomenclature.
(b) Give three advantages and three disadvantages of belt drive. 03
OR
(b) Define (1) slip (2) speed ratio (3) train value. 03
(c) Enlist types of pattern material and explain any two in detail. 04
OR
(c) Enlist types of gear train and explain compound gear train. 04
(d) Ina power transmission of flat belt drive the tension in slack side is 3000N 04
with angle of contact 190° . If the coefficient of friction is 0.25 than find the
tension in tight side.
OR
(d) Ina power transmission of flat belt drive the tension in tight side is 6000N 04

with angle of contact 170° . If the coefficient of friction is 0.35 than find the
tension in slack side.
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Explain selection of pattern material.
OR
Enlist main parts of lathe machine.
Difference between hot working and cold working process.
OR
Give the classification of milling machines.
Explain construction and working of single stage reciprocating air compressor
with figure.

Give the applications of reciprocating and rotary compressors.
Explain centrifugal pump.

Give the applications of pump.

Enlist types of pattern.
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